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Subtraction practice

57,348 - 3762 2. 84823 -6248 3. 45,240 - 2758

83,602 -7478 5. 52033 -5674 6. 86,535 -8645

There are 73,452 views of a cartoon on the Internet on Saturday. On Sunday,
there are 5276 fewer views. How many views are there on Sunday?

A Boeing 777 plane flies 17,17 7km from Sydney via Singapore to London. So
far it has flown 8345 kilometres. How much further does it have to go?
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A hot-air balloon has travelled 23 miles at 12,364 feet. It descends 1534 feet,
then another 4245 feet. What is its altitude now?

. A lottery winner buys a holiday for all her family for £3448 and a new car for
£5999. She won £35,478. How much is lef1?
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Challenge
Write a word problem which involves subtracting 45.875 from 50,005. Then explain how you would do
the subtraction if you were solving your own word problem!
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